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The essential point in this problem is for students to display an understanding of the difference between a discrete linear function and a continuous linear function. Graphs for these functions are shown on the following page.


The two graphs are similar in the respect that they both begin at the point (0,5) and end at the point (10,35), with a constant rate of change.


The symbolic form of both of these functions is Weight = 5 + 3n.


The functions differ in the following respects:


In the case of the melons, the domain is the integers 0-10; in the case of the melon juice the domain is continuous between 0 and l0.


In the case of the melons, the range is the integers 5,8,11,14,17,20,23 26,29,32,35; in the case of the melon juice the range is continuous between 0 and 35 pounds.





�EMBED MSDraw.1.01  \* MERGEFORMAT���





�
partial level�
full level�
�
Modeling/�Formulating


(weight: 3)�
Set up a weight vs. object (melons or gallons of juice) graph.


Give some evidence of linear dependence.�
Make a clear distinction between linear discrete and linear continuous dependence.�
�
Transforming/�Manipulating


(weight: 2)�
Plot the linear functions with reasonable accuracy.�
Show the plotted functions with a clear distinction between the discrete and continuous dependence.�
�
Inferring/�Drawing Conclusions


(weight: 2)�
Realize that both graphs have the same angle of upward trend.


�
Realize that both graphs start at (0,5), but that the range of the melon graph will be discrete values satisfying the equation W=5+3n.�
�
Communicating


(weight: 2)�
Provide only graphs with no prose description of similarities and differences.�
Give a prose description of each graph in detail, and present an argument for the graphs being similar or distinct. �
�
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